84.122- Section 204 Quiz 8 Name _KE /4

Dr. N. De Luca March 24, 20

Assume all solutions are aqueous at 25°C. K, = 1.0 x 10

1. What is the conjugate acid of HCO3™" ? (5 pts)

H,co
2. Which of the following is a WEAK acid? Circle your choice. (5 pts)

a)HCIO4 b)H2S04 ¢ HICOzH e) HNO3

3. Which of the following is NOT a conjugate acid-base pair? (5 pts)

 —
a) NHa*MNH3 () H30+/0H- c) H2S03/HSO3-
d) HC2H302 / C2H302-

e) All of the above are conjugate acid-base pairs.

4. Which of the following is TRUE? (5 pts)

a) A neutral solution contains [H20] = [H30+]

b) A neutral solution does not contain any H30% or OH-
@An acidic solution has [H30+] > [OH]

d) A basic solution does not contain H30+

e) None of the above statements is true.




MA

5. Determine the pH of a 0.461 M CgH5CO2H M solution if the Kg of CeH5CO2H is

6.5 x 10-5. Show your method, including any assumptions, an |.C.E. table, etc. (10
pts)
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6. A 0.25M solution of a monoprotic acid has a pH of 1.10. Calculate the K, for the acid.
Clearly show your method, including an I.C.E. table. (10 pts)
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